bé thi Ki thi Toan qudc té Kangaroo nam 2015

Grade 1-2 (2015)
Lép 1-2 (2015)

Part A: Each correct answer is worth int
Phdn A: Véi mbi cdu trd 1o ding, thi sinh nhdn dwoc 3 diém

1. Ann has seven cards with letters as shown in the picture.
Ann c6 7 tdm thé vdi nhivng chir cdi dworc cho trong hinh bén dwoi.
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Which other card does she need in order to make the word KANGAROO?
Ann cdn thém tdm thé nao trong s6 nhirng tdm thé dwdi ddy dé tao thanh tir KANGAROO?

Al [N] [B] [O] |G

(A) (B) © (D)

2. InRyan’s yard rabbits and squirrels left tracks in the snow.
Trén sdn nha Ryan, nhitng chii thé va séc da roi di va dé lai nhitng ddu chdn trén nén tuyét.
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How many animals were there if each animal only walked through once?
C6 bao nhiéu con vdt da di qua sdn nha Ryan biét rang mdi con vdt chi di qua ding mét ldn?
(A)3 (B) 4 @5 (D)6 (E) 7



3.

4.

How many triangles are there in the picture?
C6 bao nhiéu hinh tam gidc trong birc hinh bén dwdi?

(A) 7 (B) 6 (€5 (D) 4 (E) 3

Find the missing part of the house.
Hdy tim miéng ghép con thiéu dé hoan thién ngdi nha.

C

(A)ﬂ (B)ﬂ (C)C'::] (D)Q (E)Dj

Five ladybugs live on a bush. How many spots, in total, do the ladybugshave?
C6 5 con bo rua cung séng trong mét bui cdy. Cdu hdi: Cé tbng cdng bao nhiéu nét dém trén cdnh ctia
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(A) 17 (B) 18 (C) 19 (D) 20 (E) 21

nhitng con bo rua do?



6. Eric had ten equal metal strips.
Eric c6 10 thanh kim loai cung kich thwérc.
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He screwed pairs of them together into five long strips as shownbelow.

Cdu dy bat vit va ndi 2 thanh kim loai vao lam mét, tao thanh 5 thanh kim loai m&i véi chiéu dai khdc
nhau.

Which strip is the shortest?
Cdu héi: Thanh kim logi nao ngdn nhdt?
(A) A (B)B @c (D)D (E)E

Part B: Each correct answer is worth 4 points
Phdn B: V&i méi cdu trd 1o ding, thi sinh nhdn dwoc 4 diém

7. Which of the scarecrows has a pointy hat, a checkered shirt, and three patches on its pants?
Trong s6 nhitng chii btt nhin bén dwdéi, chii bu nhin nao déi mii chép nhon, mdc do ké 6 vuéng va qudn cé
3 mdnhva?

(A) (B) (D) (E)



10.

11.

Marko has 9 candies and Tomo has 17 candies. How many candies does Tomo need to give to Marko
so that each boy will have the same number of candies?

Marko c6 9 chiéc keo va Tomo cé 17 chiéc keo. Héi Tomo cdn dwa cho Marko bao nhiéu chiéc keo dé hai
cdu bé cé sé keo bang nhau?

(A) 2 (B) 3 (@4 (D)5 (E)6

Don made two bricks by sticking cubes together as shown below.
Don lam 2 khéi hinh bdng cdch ghép cdc khéi ldp phwong lai véi nhau nhw hinh bén dwdi.

Which structure could not be built using the two bricks?
Hdi trong s6 cdc khoi hinh dwdi ddy, khéi hinh nao khéng dwoc tao ra bang cdch ghép 2 khéi hinh ctia
Don?

(A) (B) (©) (D) (E)

Six towers were built with grey cubes and white cubes. Each tower was made with five cubes. Cubes
of the same colors do nottouch.How many white cubes are there?

C6 sdu thdp hinh dwoc dwng béi cdc khéi ldp phwong mau xdm va mau trdng. Méi toa thdp dwoc dung
béi 5 khéi Idp phwong. Cdc khoi ldp phwong cling mau thi khéng dwoc xép canh nhau. Héi ¢6 bao nhiéu
khéi lap phwong mau trdng dwoc dung dé dung nhieng thdp hinh dé?

(A) 10 (B) 11 (C) 12 (D) 18 (E) 30

Kanga can jump from one circle to the next only if they are connected by aline. She
cannot jump into any circle more than once. Kanga starts from circle S and makes
exactly 4 jumps to get to circle F. In how many different ways can Kanga do this?
Kanga c6 thé nhdy tir mt 6 tron sang mot 6 tron khdc néu hai é tron dé dworc két
néi b&i mét doan thdng. Trong méi ln nhdy, cé dy khéng thé nhdy sang bdt ky 6 tron
nao nhiéu hon 1 lin. Kanga bdt ddu nhdy tir 6 tron S va sau ding 4 ldn nhdy cé dy
t&i dworc 6 tron F. Hoi c6 bao nhiéu cdch khdc nhau dé Kanga cé thé nhdy tir S téi F
sau diing 4 ldn nhdy?

(A)3 (B) 4 (C) 5 (D)6 (B)7



12. What is the minimum number of shapes that must be removed so that
only shapes of one type will remain? A . . A .

Cdu héi: phdi bé di it nhdt bao nhiéu hinh dé chi con lai diing mot logi QL AAA

hinh?

(A) 4 (B) 5 (€6 (D)9 (E) 10 AN ‘.‘
Part C: Each corr nswer is worth int

Phdn C: V&i méi cdu trd 1oi ding, thi sinh nhdn dwoc 5 diém

13. Put the numbers 1, 2, 3, 4, 5 in the boxes so that everything is correct.
Dién cdc chivsé 1, 2, 3, 4, 5 vao cdc 6 tréng sao cho cdc phép todn dwéi ddy déu diing.
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Which number goes into the box marked with the question mark?
Chir s6 nao sé dwoc chon dé dién vao 6 trong dwoc ddnh ddu “?” trong hinh trén?
(A1 (B) 2 @3 (D) 4 (E) 5

14. A ship was attacked by pirates. One by one they climbed a long rope ladderto get to the ship. The pirate
captain was in the middle. If the captain was the eighth pirate to get on the ladder, then how many
pirates were there on the ladder?

Mot con tau no bi cwdp bién tdn céng. Cdc tén cwép bién dd xép thanh mot hang roi ldan lwot leo 1én tau
bang 1 s¢i ddy thirng dai. Thu linh cia ddm cwép bién dieng & gitva hang. HSi néu nhw thu linh la tén
cwép bién thir 8 leo 1én tau, thi ¢é tdt cd bao nhiéu tén cwdp bién leo Ién tau?

(A)7 (B) 8 (C) 12 (D) 15 (E) 16

15. The numbers 3,5, 7, 8 and 9 were written into the squares so that the sum of the numbers in the row
is equal to the sum of the numbers in the column. Which number was written in the centre square?
Cdcsé 3,5, 7, 8 va 9 dwoc dién vao cdc 6 vudéng sao cho téng ciia cdc sé trén mot hang bdng téng clia
cdc sd trén ciing mét cdt. Hoi s6 nao sé dwoc dién & 6 vudng trung tdm?

(A)3 (B)5 @7 (D)8 (E)9



16. Basil attached five stickers with the digits 1, 2, 3, 4, 5 in some order on a sheet of paper as shown in
the picture.
Basil ddn 5 miéng ddn dwoc ddnh s6'1, 2, 3, 4, 5 1én mét to gidy theo cdch sdp xép nhw hinh bén duéi.

In what order could Basil have put the stickers?
HGéi Basil cé thé ddn theo thit tw Idn lwot nhw thé nao?

(A)1,23,4,5 (B)4,5,2,1, 3 (€)5,4,3,2,1
(D)2,3,4,1,5 (E)4,1,3,2,5

17. The following six shapes were drawn on the six walls of a cube:
Sdu hinh dwéi ddy dwoc vé trén 6 mdt ctia 1 khoi ldp phwong:

TRy K

Below is what you see if looking at cube from two possitions.
Dwéi ddy la hinh dnh ctia khéi ldp phwong dworc nhin tir hai géc dé khdc nhau.

y 4 A

Which shape is opposite to the Canadian Math Kangaroo logo ?
H6i hinh nao la hinh ndm & vi tri d6i dién véi logo Canadian Math Kangaroo ?

(A) (B) : (@) . (D) ‘ (E) '



18. Nelly took two square cards and worte the four digits 2, 0, 1, 5, as shown.
Nell Idy 2 tdm thé hinh vudng va viét bon chiv s6 2, 0, 1, 5 1én cdc tdm thé nhw hinh vé bén dwdi.

Front of Back of Front of Back of
card 1 card 1 card 2 card 2

2l 108

Below is what you see if looking at this cube from two positions.
Bdng viéc ghép hai tdm thé trén, Nelly cé thé tao ra bao nhiéu sé ¢ 2 chiv s6?
(A) 2 (B) 3 @4 (D) 5 (E)6

Grade 3-4 (2015)
L&p 3-4 (2015)

Part A: Each correct answer is worth 3 points

Phdn A: Véi méi cdu trd 1oi ding, thi sinh nhdn dwoc 3 diém

1. My umbrella has KANGAROO written on top, as shown on the picture.
Chiéc 6 cua téi c6 chir KANGAROO & trén, nhw hinh bén dwdi.

g
s

Which of the following pictures below also shows my umbrella?
HGi hinh nao trong s6 nhitng hinh dwdi ddy ciing la hinh chiéc 6 cta toi?

(A)

2. Follow the arrows and find the result.
Theo chiéu nhitng miii tén va tim két qud ctia phép tinh.

()= L aer -~

(A) 6 (B) 7 8 (D) 10 (E) 15



3. Inthe figure, we see an island with a funny shape and several frogs.
Trong hinh vé, chiing ta thdy mgt hon ddo véi hinh ddng vui nhdn va mot sé chii éch.

How many of these frogs are sitting on the island?
HGi cé bao nhiéu con éch dang & trén hon ddo?

(A) 5 (B) 6 ()7 (D) 8 (E) 9

4.  Danais saving up for skates. She puts 2 dollars in her piggy bank every Wednesday and Friday.
How many dollars will she save up in five weeks?
Dana dang tiét kiém tién dé€ mua mot déi giay trwot. Co dy bé 2 dé la vao con lon tiét kiém ciia minh vao
cdc ngay thir 4 va thir 6. HGi cé dy sé tiét kiém dworc bao nhiéu dé la sau 5 tudn?

(A) 5 (B) 10 (C) 15 (D) 20 (E) 25

5.  Eric had 10 equal metal strips.
Eric c6 10 thanh kim loai cting kich thwérc.

He screwed pairs of them together into five long strips as shown below.
Cau dy bdt vit va néi 2 thanh kim loai vao lam mét, tao ra 5 thanh kim loai méivéi do dai khdc nhau.

OCO0O000Q0C000C0

o
O
(=}
(o]
(s}
(o]
(=}
(s}
o
o
(o]

Which strip is the longest?
Cau héi: Thanh kim loai nao ngdn nhdt?
(A) A (B)B @c (D)D (E)E



A number has two digits. The product of the digits of this number is 15. What isthe sum of the
digits of this number?
C6 mét sé c6 2 chir s6. Biét rdng tich cdc chir s6 ciia sé dé la 15. Héi tdng cdc chik s6 ctia s6 d6 la bao nhiéu?

(A)2 (B) 4 (@6 (D)7 (E)8

We want to connect the dots on the circle using line segments. We start at il |
dot 1 and connect every second dot on the circle until we are back at the \\
number 1. The first two line segments are drawn already. What figure do we 7// \ j 2
get in the end? \
T6i muén ndi nhitng diém ndm trén dworng tron bdng cdch vé nhirng doan thang. Toi 3
bat dau tir diém sé 1 va néi tdt cd cdc diém cdch diém trwée dé 1 diém trén dwing 5 1

tron lai v&i nhau cho dén khi toi quay lai diém s6 1. Hai doan thang ddu tién da dwoc cho truwdc (xem
hinh). H6i dén khi két thiic, toi cé thé nhdn dwoc hinh nhw thé nao?

(D)

The picture shows the back side of the puzzle.
Hinh dwai ddy la mdt sau cua mdt birc tranh ghép.

é
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Which of the following pieces (seen from the front side) is the missing piece?
HGi trong s6 nhitng miéng ghép dwdi ddy (hinh dnh nhin tir mdt truwdc cia birc tranh), ddu la miéng ghép
con thiéu?

VR IR TN,




Part B: Each correct answer is worth 4 points e, o o TR R

Phdn B: Vé&i méi cdu trd 1oi diing, thi sinh nhdn dwoc 4 diém
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13.

14.

-
'
0

[
——pm=

[
(S
[

Basil wants to cut the shape in Figure 1 into identical triangles as in Figure 2.7
How many triangles will he get?

Basil mudn cat hinh trong Hinh 1 thanh nhitng tam gidc giéng nhau nhw Hinh 2.
HGi cdu dy c6 thé nhdn dwoc bao nhiéu hinh tam gidc nhw vdy?

(A) 8 (B) 12 (C) 14 (D) 15 (E) 16 Figure 2

Jack built a cube using 27 small cubes colored either grey or white (see the figure).
No two of the small cubes, with the same color, have a common face. How many
white cubes did Jackuse?

Jack da tao dwoc mot khéi Idp phwong bdng cdch st dung 27 khéi ldp phwong nhé gom hai
mau trdng va xdm. Khéng cé 2 khéi ldp phwong nhé nao, giéng mau nhau, dwoc xép canh
nhau. Héi Jack da st dung bao nhiéu khéi ldp phwong mau trdng?

(A) 10 (B) 12 (C) 13 (D) 14 (E) 15

Betty marked 8 red points on a straight line. Then she put a blue point in each space between
two neighbouring red points. Finally, Betty put a green point in each space between two
neighbouring blue and red points. How many points did Betty mark in total?

Betty dd ddnh ddu 8 diém mau dé trén mét dwong thang. Sau dé, c6 dy ddnh ddu thém 1 diém mau xanh
da troi vao méi ché tréng gitka 2 diém mau dé ké nhau. Cudi ciing, Betty ddnh ddu thém 1 diém mau xanh
ld cdy vao méi ché tréng gitka 2 diém mau xanh da trdi va mau dé ké nhau. Héi Betty dd ddnh ddu tdt cd
bao nhiéu diém?

(A) 14 (B) 18 (C) 26 (D) 29 (E) 30

In a speed skating competition, 10 racers reached the final. Tom beat three racers more than
beat him. Which place did Tom end up in?

Trong mot cudc thi trwot bdng téc dd, cé 10 vdn dong vién lot téi vong chung két. Biét rang: S6 nguoi
ma Tom xép trén nhiéu hon 3 ngwdi so véi s6 nguwdi ma Tom xép dwdi. Héi Tom dd vé dich & vi tri thir
bao nhiéu?

(A) 1 (B) 3 (C) 4 (D) 6 (E) 7

Josip has four toys - a car, a doll, a ball and a spaceship.
Josip c6 4 thir do choi - 1 chiéc 6 té, 1 con bip bé, 1 qud béng va 1 chiéc tau vii tru.

) .J;'f\t} (‘ %

He wants to arrange the toys in a row on a shelf. Both the spaceship and the doll have to be
next to the car. In how many ways can he arrange the toys so that the condition is fulfilled?
Cédu dy muén xép do choi ctia minh thanh 1 hang trén mét chiéc gid. Biét rdang: chiéc tau vi tru va con
biip bé phdi xép bén canh chiéc 6 t6. Héi c6 bao nhiéu cdch dé Josip xép nhirng thir dd choi ciia minh sao
cho diéu kién trén dwoc théa mdn?

(A) 2 (B) 4 (A5 (D)6 (E)8

A rectangle is divided into exactly 12 identical squares arranged in three rows. What is the
perimeter of the rectangle, if the perimeter of one little square is 12 cm?




M@t hinh chtr nhdt dwoc chia thanh 12 hinh vuéng bdng nhau, va dwoc xép thanh 3 hang. Héi chu vi ctia
hinh chi¥ nhdt la bao nhiéu, néu chu vi ctia méi hinh vuéng nhé la 12 cm?
(A)21cm (B)42cm (C)108cm (D) 60 cm (E) 24 cm

15. Pete rides a bicycle in a park with bike paths as shown in the
figure. He starts from the Start line in the direction of the
arrow. At the first crossroad he turns right, then at the next
crossroad he turnsleft, then right again, then left again and so
on, in that order. What is the sign which he will not pass?
Pete dap xe dap trong céng vién véi dwdng di dwoc cho nhw hinh vé.
Cdu dy bdt ddu tir vach Xudt phdt va di theo huéng miii tén (xem
hinh). Tai ngd tw ddu tién cdu dy ré phdi, roi cdu dy ré trdi va sau dé S
lai ré phdi, roi lai ré trdi, cit tiép tuc theo trinh tw nhw vdy. Héi cdu = \\/‘) A
dy sé khong di qua vi tri nao? \_/

(A) A (B) B € C (D) D (E) E

16. There are 5 ladybugs shown in the figure. Two ladybugs are
friends with each other if the numbers of spots that they have
differ exactly by 1. On Kangaroo Day, each of the ladybugs sent
one text message to each of their friends. How many text %% %Q
messages were sent?
C6 5 con bo ria nhw hinh vé. Hai con bo rua la ban ctia nhau néu s6 chdm trén cdnh ctia chiing cé hiéu
bdng 1. Vao Kangaroo Day, méi con bo rua trong sé chiing da gii 1 Id thw dén cho nhitng ngudi ban
ctia minh. Héi c6 bao nhiéu Id thw da dwoc gwi di?

(A) 2 (B) 4 @6 (D)8 (E)9

Part C: Each correct answer is worth 5 points
Phdn C: V&i mdi cdu trd 1o diing, thi sinh nhdn dwoc 5 diém

17. Luisa wanted to fold a cube from a piece of paper. By mistake she drew and cut 7
squares on her sheet instead of 6 squares. 1

Luisa muén gdp mot hinh ldp phwong tie mdnh gidy (nhw hinh vé). Do mét 16i nhé ma trén 214

mdnh gidy ctia cé dy cé 7 6 vudng thay vi 6 6 (nhw thdng thwong).
Which square must she remove so that the figure remains connected and Luisa >
can fold a cube from it? 3|6
Héi c6 dy phdi cat bé 6 vudéng s6 mdy néu mudn ghép phdn con lai thanh khéi Idp phwong?
A)1 (B)3 (C) 4 (D)5 (B)7

18. Tom added all even numbers from 2 to 100. Alice added all odd numbers from 1to 99. Then Joe
subtracted Alice’s result from Tom’s result. What is Joe’sresult?
Tom céng tdt cd cdc s6 chan tir 2 dén 100. Alice cong tdt cd cdc s6 16 tir 1 dén 99. Sau dé, Joe ldy két qud
ctia Tom trir di két qud ctia Alice. Héi, Joe sé nhdn dworc két qud la bao nhiéu?

(A) 50 (B) 150 (C) 10 (D) 200 (E) 100



19.

20.

21.

22.

23.

The numbers 2, 3, 5, 6 and 7 are written in the squares of the cross (see
the figure) so that the sum of the numbers in the row is equal to the sum

of the numbers in the column. Which of the numbers can be written in the
centre square of the cross?

Cdcsd 2,3, 5, 6 va 7 dwoc dién vao cdc 6 vudéng & hinh bén sao cho téng ctia cdc sé
nam trén hang ngang diing bdng téng ctia cdc chi¥ s6 ndm trén cét. Héi s6 nao la
s6 nén dwoc dién vao 6 ndm & vi tri chinh giira?

(A) only 3 (B) only 5 (C) only 7

(D) either 50or7 (E) either 3,50r7

To cook an elixir a witch needs five types of herbs exactly in
the amounts weighed by the scales in the picture. The witch
knows that she needs to put 5 grams of sage into the elixir.
How many grams of hibiscus does she have to use? (The )
weight of the scales is irrelevant.) \'—6
Dé ndu thudc thdn, mét phu thily cdn cé cdc loai thdo dwoc vai : .

trong lwong phdi dwoc cdn 1 cdch chinh xdc nhw hinh vé bén. Biét

rdng phu thiy cdn phdi cho vao thudc thdn 5 gram ngdi dding (sage). 2

HGi ba dy phdi st dung bao nhiéu gram cdy ddm but (hibiscus)?

(A)50g (B)40g (C©)30¢g (D)20g (E)10g

Three ropes are laid down on the floor as shown. ‘ ’

C6 ba doan ddy thirng dwoc ddat dwéi san nhw hinh vé. f (W

You can make one big, complete loop by adding three other pieces of rope to these three.
Which of the following sets of rope pieces shown below will make one big loop?

Ban c6 thé lam 1 vong ddy thirng Ién, bdng cdch st dung 3 doan ddy thieng khdc dé néi 3 doan ddy
thirng nay lai véi nhau. Héi b6 ddy nao trong sé nhitng bo ddy dwdi ddy cé thé dwoc ding dé tao nén 1
vong ddy thirng lom?

/ /
(A)U w (B)M (C)kw(D)U = (E)w Y

In the dotted sheet below, the distances, both horizontally and vertically,
between every two neighbouring points are equal. Ann drew all possible
squares by connecting four of the points. How many different values can
the area of the squares take?

Trong 1 cdi bdng c6 cdc ddu chdm nhw bén dwdi, khodng cdch tinh theocdchiéu |e o o
ngang va chiéu doc, gitra 2 ddu chdm lién nhau la bang nhau. Ann da vé tdt cd cdc

hinh vuéng cé thé vé bdang cdch ndi 4 ddu chdm lai véi nhau. Héi ¢ bao nhiéu gid tri dién tich khdc
nhau do cdc hinh vuéng tao ra?

(A) 2 (B) 3 (C) 4 (D)5 (E) 6

L] L] L] L]

Tom drew a shark, a pig and a rhino and cut each of them in three pieces as shown.



Tom dd vé 1 con cd mdp, mot con té gidc, mét con lon va cdt chiing thanh 3 mdnh nhw hinh bén dwdi.

X

How many different real or fantasy animals could Tom create in total?
Sau dé cdu dy da tao ra mot con vdat méi bang cdch ghép 1 cdi ddu, 1 cdi thdn va 1 cdi duéi (ctia con vt
bdt ky) lai véi nhau. Héi cé bao nhiéu con vdt sé dworc tao thanh tir viéc cdat ghép dé ctia Tom?

(A) 3 (B) 9 (C) 15 (D) 24 (E) 27

24. Paige has three transparent sheets with the following opaque black patterns.
Paige c6 3 tdm dé can trong sudt véi nhitng 6 bi son mau den nhw hinh bén duwéi.

She can only rotate the sheets, she cannot flip them over. If Paige rotated the sheets and
then put them one on top of the other, what would be the maximum possible number of
black squares she could see if looking down on all the sheets?

Biét rdng Paige chi cé thé xoay tron nhitng tdm dé can nay chir khéng thé lat chiing lai. Vdy néu nhw
Paige xoay cdc tdm dé can va ldn lwot ddt cdc tdm dé can chong 1én nhau, thi s6 6 vuéng mau den toi
da c6 thé dwoc nhin thdy khi nhin tir phia trén cdc tdm dé can xuéng la bao nhiéu?

(A)5 (B)6 7 (D)8 ()9

Grade 5-6 (2015)
Lép 5-6 (2015)

Part A: Each correct answer is worth 3 points

1.  In which of the figures is exactly one half of the areashaded?
Trong s6 nhitng hinh dwdi ddy, hinh ndo cé chinh xdac mét nira dién tich bi t6 dim?

(A) (B) @ (D) (E)



My umbrella has the letters KANGAROO printed on the top, as shown in the picture on the right.
Which of the five smaller pictures does not show my umbrella?
Chiéc 6 cta téi c6 chir Kangaroo dworc in nhw hinh vé. Hoi hinh nao trong 5 hinh dwéi qp day

khéng phdi la hinh dwoc nhin thdy tir chiéc 67 %bv

(A) | (B) (D) | (E)

There are ten ducks. Five of these ducks each lay an egg every day. The other five ducks each lay an
egg every second day. How many eggs in total do the ten ducks lay in a period of 10 days?

C6 10 con vit. 5 con trong sé chiing méi con dé dwoc 1 quad tri'ng méi ngay. Nhikng con con lai ctv 2 ngay
sé dé dwoc 1 qud trivng. H6i 10 con vit nay dé dwoc bao nhiéu qua trirng sau 10 ngay?

(A) 75 (B) 60 (C) 50 (D) 25 (E) 10

The figure shows a board where each small square has an area of 4 cm?. What is the length of the
thick blackline?

Hinh dwéi ddy c¢é vé mét tdm bdng, ma méi hinh vuéng nhé cé dién tich la 4 cm?. Héi dwong ké ddm
mau den c6 do dai la bao nhiéu?

(A) 16 cm (B) 18 cm (C) 20 cm (D) 21 cm (E) 36 cm

The two pictures of the balanced scales show the birds Rita and Dita.
Rita  pitg

A
« Dita
/AT
B
o v
—_—
A

How much does Dita weigh?
Hdy tinh can ndng cua cht chim Dita dwa vao hai hinh dnh trén.
(A) 2kg (B) 3kg (C)4kg (D)5 kg (E) 6 kg



Which of the following fractions is smaller than 2?7
Phdn sé nao trong nhirng phdn sé dwdi ddy cé gid tri nhé hon 2?

19 20 21 22 23
(A5 (B) 5 @ (D) (E)

7. Each plant in John's garden has either 5 leaves only, or 2leaves and 1 flower. In total, ;
the plants have 6 flowers and 32 leaves. How many plants are there? g
Mbéi cdy trong vwedn nha John déu cé hodc 5 chiéc 1d, hodc 2 chiéc Id va 1 béng hoa. Nhirng ®sle” %
cdy trong vwon nha John cé téng cdng 6 bong hoa va 32 chiéc ld. Héi trong viwon nha
John cé bao nhiéu cay?
(A) 10 (B) 12 (©)13 (D) 15 (E) 16

8.  Alva has 4 paper strips of the same length. She glues 2 of them together witha 10 cm overlap, and
gets a strip 50 cm long.
Alva c6 4 bdng gidy c6 ciing d6 dai. C6 dy ddn 2 bdng gidy lai véi nhau v&i mét doan dai 10 cm chdng
Ién nhau, va cé dy nhdn dwoc mét bdng gidy mdi dai 50 cm.
| ; 10cm |

[ 10em : |

[ ; ] | 50 em
With the other two paper strips, she wants to make a 56 cm long strip. How long should the overlap
be?
V&i hai bdng gidy con lai, c6 dy dinh lam mét bdng gidy mdi ¢6 d6 dai la 56 cm. Héi d6 dai doan gidy
chong lén nhau la bao nhiéu xdng-ti-mét?
(A) 4 cm (B) 6 cm (C)8cm (D) 10 cm (E)12 cm

9.  Nine flowers are planted in a row, same distance apart between any two adjacent flowers. The
distance between the first and the third flower is 60 cm. What is the distance between the first and
the last flower?
C6 9 béng hoa dwoc trong thang hang véi khodng cdch giiva cdc béng hoa ké nhau la nhw nhau. Biét
rdang khodng cdch giita béng hoa thit nhdt va béng hoa thir ba la 60 cm. Héi khodng cdch giiva bong
hoa thi¥ nhdt va béng hoa cudi cting la bao nhiéu?
(A) Im 60cm (B) 1m 80cm (C)2m20cm (D) 2m40cm (E)2m 70cm

10. Lisa has 90 marbles. Anna has 10 more marbles than Lisa but 50 less marbles than Olle. How many
marbles do they have together?
Lisa c6 90 vién bi. Anna c6 nhiéu hon 10 vién bi so véi Lisa, nhwng lai it hon 50 vién bi so véi Olle. Hoi
cd ba ban cé tdt cd bao nhiéu vién bi?
(A) 100 (B) 150 (C) 240 (D) 250 (E) 340

Part B: Each correct answer is worth 4 points D C

11. Inthe picture, the rectangle ABCD is constructed from four

identical rectangles. If the length of the segment BC is 1 cm,
what is the length of the segment AB? A B

Hinh cht nhdt ABCD trong hinh bén dwéi dwoc ghép tir 4 hinh chi nhdt bang nhau. Héi néu doan BC
dai 1 cm, thi doan AB dai bao nhiéu xdng-ti-mét?

(A) 4cm (B)3cm (C)2cm (D)1cm (E) 0.5cm




12.

13.

14.

15.

16.

Lucy and her mother were both born in January. On March 29, 2015, Lucy adds the year of her birth,
the year of her mother’s birth, her age, and her mother’s age. What is the result?

Lucy va me ctia ban dy cting sinh vao thdng Mdt. Vao ngay 29 thdng 3 ndm 2015, Lucy cdng s6 ndm sinh
ctia minh, s6 ndm sinh ctia me, sé tudi ctia minh va sé tudi ctia me lgi thi dwoc mét téng. Héi tong dé
bdng bao nhiéu?

(A) 4028 (B) 4029 (C) 4030 (D) 4031 (E) 4032

A rectangle has an area of 12 cm?. Its sides are of integer lengths in centimetres. Which of the
following values could be the perimeter ofthe rectangle?

M@t hinh chi¥ nhdt cé dién tich bang 12 cm?. Cdc canh ctia hinh chit nhdt dé cé dé dai la mét s6 nguyén
xdng-ti-mét. Hoi trong nhirng sé dwdi ddy, s6 ndao cé thé la chu vi ctia hinh chir nhdt?

(A) 20 cm (B) 26 cm (C) 28 cm (D) 32 cm (E) 48 cm

The number 100 is multiplied either by 2 or by 3, then the result is increased either by 1 or by 2, and
then the new result is divided either by 3 or by 4.

If the final result is a natural number, what is this final result?

Ta ldy s6 100 nhdn véi s6 2 hodc s6 3, sau dé ta dem két qud nhdn dworc cdng thém 1 hodc 2 don vi, réi
ldy két qud méi chia cho 3 hodc 4. Héi két qud cudi cting sé la bao nhiéu, néu né la mét sé tw nhién?

(A) 50 (B)51 Q)67 (D) 68

(E) There is more than one possible final result.

Each of the 9 line segments in the figure is to be coloured either blue, green or red. The three sides
of each triangle are to have three different colours. Three of the line segments have already been
coloured, as shown. What colour can the line segment marked with x have?

Méi doan thang trong s6 9 doan thdng trong hinh bén dwoc to béi mau X blue

xanh lam, xanh ld cdy hodc mau dé. Biét ring cdc canh ctia méi hinh tam
gidc phdi dworc t6 béi cac mau khdc nhau. Ngwoi ta da té trwdc 3 trong 9
doan thdng (xem hinh). Héi doan thang dwoc ky hiéu la x ¢ thé dwoc té
bai (nhitng) mau nao? red
(A) only blue (B) only green (C) only red
(D) either blue, green or red (E) such a colouring is not possible

red

The figure shows an addition where the numbers are coded by letters. Equal letters represent equal
digits, and different letters represent different digits. Which digit does the letter X represent?

Hinh bén mé6 phéng mét phép cdng ma cdc chir s6 trong phép tinh dé déu da bi ma héa béi cdc

chir cdi. Biét rdang cdc chir sé giéng nhau déu dwoc ma héa béi cting mot chir cdi, nguoc lai, X
cdc chir sé khdc nhau dwoc md héa béi cdc chiv cdi khdc nhau. Héi chiv cdi X la ki tw md héa Y)\i
ctia chir s6 nao? p—
(A) 2 (B)3 Q) 4 (D) 5 (E) 6



17.

18.

19.

20.

Carla wants to fold a cube from a paper net. By mistake she drew 7 squares on her
sheet instead of 6 squares. Which square(s) can she remove so that the figure| 4 | 5
remains connected and Carla can fold a cube from it?

Carla muén gdp mot khéi ldp phwong tir mdnh gidy dwoc cho nhw trong hinh. Do mét

16i nao dé ma cé dy dd vé 7 hinh vuéng nhd thay vi 6 hinh (nhw théng thwong). Héi Carla nén bé di
(nhitng) hinh vuéng nao dé cé dy cé thé gdp dworc 1 khéi ldp phwong tir mdnh gidy?

(A) only 4 (B) only 7 (C) either 3 or 4

(D) either 3 or?7 (E) either 3,4 or 7

|"-JCﬂ|—L

In a four-digit number ABCD, the digits A, B, C, D are in increasing order from left to right. What is
the largest possible difference BD - AC of the two-digit numbers BD and AC?

Mot s6 c6 4 chir s6 c6 dang ABCD, véi cdc chiv s6 A, B, C, D tdng ddn theo thir tw tir trdi sang phdi. Hoi
hiéu Iém nhdt cd thé gitva hai s6 BD va AC la bao nhiéu?

(A) 86 (B) 61 (C) 56 (D) 50 (E) 16

Tom used 6 squares with sides of length 1 to form the shape in the picture. What is the
perimeter of the shape?

Tom da str dung 6 hinh vuéng cé canh bdng 1 dé xép thanh mét khéi nhw hinh bén.

Héi chu vi ctia khéi hinh dé bang bao nhiéu?

(A) 13 (B) 12 (011 (D) 10 (E)9

Kangarina discovered that someone had eaten her jar of honey. She suspected one of her four

neighbours: the antelope Anty, the bear Beary, the fox Foxy or the lion Leo. Anty stated that Beary

ate the honey. Beary stated that it was Leo. Foxy and Leo denied eating the honey. Who ate the honey

if only one of them is telling the truth?

Kangarina phdt hién ra rang cé ai dé da dn vung hii mdt ong ctia c6 dy. C6 dy nghi ngd rdng 1 trong sé
4 ngwdi hang xém ctiia minh da lam chuyén do: son dwong Anty, gdu Beary, cdo Foxy va sw tir Leo. Anty
néi rdng Beary da dn vung mdt ong. Beary lai néi rdng dé la Leo, Foxy va Leo phti nhdn viéc dn vung
mdt ong. Héi ai la ngwdi dn vung mdt ong, néu chi cé duy nhdt 1 ngwoi trong sé ho ndi thdt?

(A) Foxy (B)Beary (C)Anty (D)Leo (E) There isnotenough information to be conclusive

Part C: Each correct answer is worth 5 points
Phan C: V&i méi cdu trd loi dung, thi sinh nhdn dwoc 5 diém

21.

Square paper sheets of two sizes are needed for an art project. How many of the smaller sheets are
needed to cover one of the larger sheets if it is known that the perimeter of one of the larger sheets
is eight times as great as the perimeter of one of the smaller sheets?

Nhitng mdnh gidy hinh vuéng cé 2 mdt dwoc str dung trong mét hoat déng nghé thudt. Héi ngwoi ta
cdn bao nhiéu mdnh gidy nhé dé phu kin mét trong nhitng mdnh gidy 16m, biét rdng chu vi ciia mdnh
gidy 1ém bdng 8 1dn chu vi ctia mdnh gidy nhé?

(A) 64 (B) 48 (C) 32 (D) 16 (E)8



22.

23.

24,

25.

On Jump Street, there are 9 houses in a row. At least one person lives in each house. Any two
neighbouring houses together are inhabited by at most six people. What is the largest number of
people that could be living on Jump Street?

Trén con phd Jump, c6 9 ngéi nha dwoc xdy trén mot dworng thang. Biét rdng: trong moi ngéi nha ludn
cé it nhdt 1 ngwoi, va téng s6 nguwoi séng trong hai ngdi nha lién ké luén khéng qud 6 ngwoi. Hoi trén
con phd dé c6 thé cé nhiéu nhdt bao nhiéu nguwoi?

(A) 23 (B) 25 (C) 27 (D) 29 (E)31

In a bag there are 3 green apples, 5 yellow apples, 7 green pears and 2 yellow pears. Simon randomly

is taking fruits out of the bag one by one. How many fruits must he take out in order to be certain

that he has at least one appleand one pear of the same colour?

Trong mgt chiéc tii c6 3 qud tdo xanh, 5 qud tdo vang, 7 qud 1é xanh va 2 qud Ié vang. Simon ldy mdt
cdch ngdu nhién nhitng qud (tdo/I€) ra khéi chiéc tii dy. Simon Idy ra ldn lwot tirng qud mét. Héi cdu
dy phdi Idy ra it nhdt bao nhiéu qud dé chdc chdn Idy ra dwoc 1 qud tdo va 1 qud Ié cuing mau?

(A)9 (B) 10 (11 (D)12 (E)13

Two cats, Tom and Bob, caught together 42 mice in three days. Each day, Tom caught twice as many
mice as in the previous day, while Bob caught two more mice than in the previous day. Nonetheless,
both cats caught the same number of mice for the three days. How many mice did Tom and Bob catch
together during the first day?

Hai chil méo, Tom va Bob, cting nhau bdt dwoc téng cong 42 con chuét trong vong ba ngay. Méi ngay,
Tom déu bdt dwoc s6 chudt gdp déi sé chudt bat dworc trong ngay trudc dé; trong khi, Bob luén bdt dworc
s6 chudt nhiéu hon 2 con so véi s6 chudt bat dwoc trong ngay trudéc dé. Tuy vdy, sau ba ngay dé, Tom
va Bob lai bat dwoc ciing mét s6 chudt. Héi téng s6 chudt ma Tom va Bob da bat dwoc trong ngay ddu
tién?

(A)5 (B)7 (8 D)o (E)10

Five children were standing in a line and holding 37 balloons in total. All children who were to the
right of Andrew had together 14 balloons; all children standing to the right of Bob had together 32
balloons; the ones to the right of Clara - a total of 20 balloons, and to the right of Danny - 8 balloons.
How many balloons did Clara hold?

Cé6 5 dira tré dirng thanh 1 hang ngang va chiing cé tdt ca 37 qud béng bay. Nhirng dira tré ditng bén
phdi Andrew cé tdng cong 14 qud béng, nhitng dira tré dirng bén phdi Bob cé téng cdng 32 qud bdng,
nhitng dira tré dirng bén phdi Clara cé tong cdng 20 qud béng va nhitng dira tré ditng bén phdi Danny
c6 téng cdng 8 qud bong. Héi Clara cé bao nhiéu qud béng bay?

(A)5 (B)6 (€)8 (D) 12 (E)16



26.

27.

28.

29.

30.

Mary wrote a number on each face of a cube. Then, for each vertex, she added the % C

numbers on the three faces sharing that vertex (for example, for vertex B she added#
the numbers on faces BCDA, BAEF and BFGC). The numbers computed by Mary for o
vertices C, D and E were 14, 16 and 24, respectively. What number did she compute c
for vertex F?

Trén méi mdt ctia khéi ldp phwong ABCD.EFGH, Mary déu viét mét sé. Sau d6, véi méi dinh ciia khéi lap
phwong, c6 dy dd céng cdc sé dworc dién trén ba mdt cua khoi ldp phwong cé cung dinh dé (vi du, véi
dinh B, cé dy céng cdc s6 dwoc viét & mdt BCDA, BAEF va BFGC). Biét rang, cdc két qud ma Mary nhdn
dwoc sau khi cong & dinh C, D va E ldn lwot la 14, 16 va 24. Hoi két qud ma Mary nhdn dwoc & dinh F la
bao nhiéu?

(A) 15 (B) 19 (C) 22 (D) 24 (E) 26

F

A train has 12 coaches. Each coach has the same number of compartments. Mike is travelling in the
third coach and in the 18th compartment from the engine. Jane sat in the 7th coach in the 50th
compartment from the engine. How many compartments are there in each coach?

Mot con tau c6 12 toa. Cdc toa tau déu cé cung mot s phong. Mike dang & toa tau thit ba va & trong
phong thit 18 tinh tir ddu tau. Jane ngdi & toa thit 7 va & trong phong thiv 50 tinh tir ddu tau. Héi trong
méi toa tau cé bao nhiéu cdn phong?

(A) 7 (B)8 (A9 (D) 10 (E) 12

In how many ways can you place the three kangaroos in three different cells, out of the seven cells
below, so that no two kangaroos are neighbours?

C6 bao nhiéu cdch sdp xép 3 chil kangaroo vao 3 6 vuéng khdc nhau, trong sé 7 6 vudéng bén duwdi, sao
cho khéng cé 2 chii kangaroo nao dworc xép vao 2 6 vudng lién ké?

R B

® TR TR
3 VS

(A) 7 (B) 8 (C)9 (D) 10 (E) 11

Four points lie on a line. The distances between them are, in increasingorder: 2, 3, k, 11, 12, 14. What
is the value of k?

C6 4 diém dwoc ddnh ddu trén ciing mét dwong thdng. Khodng cdch gitra chiing, theo thir tw tdng dan:
2,3,k 11, 12, 14. Héi gid tri cta k la bao nhiéu?

(A) 5 (B) 6 7 (D)8 (E)9

Basil used small cubes with side 1 to construct a cube with side 4. After that, he painted 3 faces of
the big cube red and the other 3 faces blue. After he finished, there was no small cube with 3 red
faces. How many small cubes have both red and blue faces?

Basil da str dung nhiing khéi 1dp phwong nhé ¢6 canh bdng 1 dé tao mét khéi ldp phwong 16m cé canh
bang 4. Sau dé, cdu dy da son 3 mdt ctia khoi ldp phwong Iém béi mau dé va 3 mdt con lai ctia khéi Idp
phwong dé b&i mau xanh lam. Sau khi Basil son hét cdc mdt ctia khoi ldp phwong 16én, Basil phdt hién
ra rang khéng cé khéi ldp phwong nhé nao cé 3 mdt dwoc son béi mau dé. Hoi ¢é bao nhiéu khéi lap
phwong nhé véi mdt dworc son bdi cd mau dé va mau xanh lam?

(A)O (B) 8 ()12 (D) 24 (E) 32




